SINDHI HIGH SCHOOL K.K.ROAD, BANGALORE-1

Periodic Test-I1 2022-23

FROM DARKNESS UNTO LIGHT

Subject: English
Time: 1 Hour
Date: 12/07/22

Class: VIII
Marks: 30
No.of Printed sides: 3

General Instructions
This paper contains four sections

Section A - Reading- S5Marks

Section B - Writing & Grammar- 10Marks
Section C- Literature-15Marks

All Sections are compulsory

Section A - Reading (5 Marks)

I. Read the passage given below and answer the questions that follow: (5M)

1.What’s up with WhatsApp, specifically its newish payments business? Contrary
to the expectations of many market observers, WhatsApp has processed just 1.6
million of the over 6.7 billion transactions on India’s Unified Payments Interface
(UPI) since its launch in November.

2.” To get the simplicity of WhatsApp’s interface for payments is a complex task.
We want to ensure that the experience for customers is smooth,’ a person close to
the company told The Economic Times, requesting anonymity.

WhatsApp | Phone Pe | Google Paytm Amazon | UPI(Total)
January | 0.56 968 853 281 46 2,302
December | 0.81 902 854 261 41 2,230
November | 0.31 868 960 260 37 2,200

3.Market observers said the challenge of India’s sophisticated payments
architecture, a raging political debate around ownership of digital data’ coupled
with the social messenger’s global experiences such as in Brazil could be the
reasons. Within a few days of WhatsApp’s payment service going live, the Central
Bank of Brazil had taken it down owing to an uncertain regulatory climate.

4.AWhatsApp spokesperson confirmed the development. ‘That’s correct,’ the
spokesperson said, responding to ET’s mailed query on whether the slow start Was
a conscious decision to enhance customer experience before gaining scale.



S.As per the latest data released by the National Payments Corporation of India
(NPCI), WhatsApp pay processed just 0.56 transactions worth Rs.36.44 crore in
January 2021 against 0.81 million transactions worth Rs.29.72 crore it recorded
in December 2020.

6.Walmart-backed Phone Pay, Google Pay, Paytm that is funded by Soft Bank and
Ant Financial, and Amazon Pay cornered a significantly higher share of
transactions in this period. Phone Pay clocked 968 million transactions in
January, whereas Google Pay processed 853 million payments. Paytm came a
distant third with 281 million payments on UPI, whereas Amazon Pay did 46

million.

I. Answer the following questions briefly.

a. Why does WhatsApp want to ensure that the experience for customer is
smooth?

b. According to the chart how much transactions Google Pay processed in
January?

c. What is the expert’s opinion about WhatsApp bid to capture the digital
payments market in India?

d. What is the reason for the Central Bank of Brazil taking down WhatsApp Pay?
e. Find the word from the passage which means ‘nameless. (para-2)

SECTION B- WRITING AND GRAMMAR (10)

II) Write a letter to your friend telling him about teenagers and their problems.
You are Gopal/Geetha, a resident of Vasanth Nagar, Bengaluru and your limit is
120 words. (SM)

III) Choose the most appropriate verb form from the options in the bracket to
complete the following passage. Write the answers in your answer sheet
against the correct blank number. (S5M)

This poem (a) (paint, paints, painting, will paint) a portrait of Abraham
Lincoln. He (b) (is, was, are, were) probably the greatest American who
ever (c) (live, lives, lived, was living). He (d)

(work, works, worked, was working) for the freedom of slaves. He (e)

(murders, murdered, was murdered, was murdering) in the middle of his term as
President but not before he () (unite, united, was uniting, had united) the

rival states of North America into a great nation.



LITERATURE- (15M)
IV) Read the following extract and answer the questions that follows: (1x3=3)

At last by starvation and famine made bold,
All dripping with wet, and all trembling with cold,
Away he set off to a miserly ant,
To see if, to keep him alive, he would grant
Him shelter from rain,
And a mouthful of grain.
He wished only to borrow;
He’d repay it tomorrow;
If not, he must die of starvation and sorrow.

a) Who was starving and feeling cold?
b) Why did he intend to meet the ant?
c) What lead him to be, in this situation?

V. Answer the following questions in 40n to 50 words: (2x2=4)

a. What was the ant’s principle? Do you agree with it?

b. Why do Jim and Hans think that games or sports are good ways of resolving
conflicts? Do you agree?

VI) Answer the following in 100-120 words: (2x4= 8M)

a. Imagine yourself to be the author in the story, ‘The Best Christmas Present in
the World”. You don’t know whether to disclose your identity and disappoint the
old lady or let her believe that her dear Jim has come back. Write a diary entry
expressing your dilemma, feelings, and fears.

b. Convey the message of the poem, The Ant and the Cricket’ for all mankind to
understand and follow.
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GENERAL INSTRUCTIONS

e Write your name, roll number, class and section, date and subject clearly in
your answer script. "

e All questions are compulsory.

e Part A consists of two sections | and Il

e Section | has 7 one-mark questions. Section |l has 1 case study. Choose the
correct answer for each question

e Part-B Question Nos.12- 14 is short answer type questions of 2 marks each.
e Question nos.15-17 are short answer type questions of 3 marks each.

e Question no. 18 is long answer type question of 4 marks.

S No. Part A Marks
Section 1
1 Find additive inverse and multiplicative inverse of (-1). 1
. ]
2. | Express 2 % in simplest form 1
-
3 Subtract 6xy from -12xy 1
e
4. | Represent (—E)on the number line 1
5. | Find the value of X’ 1
2x—3=4
I ey I
6. | Find: {fxlf—}
12715 1
7. Find the value of 5 times (-3 /5 ) divided by 3 1




Section Il
Case study-based question

National Association for the Blind (NAB) aimed to empower and
well —inform visually challenged population of our country, thus
enabling to lead a life of dignity and productivity.

Four friends donated amounts as follows
Aryan donated Rs. 100 Aditi donated Rs. 200— Arnav donated

Rs 100andAmitabh donated twice that of Aryan.

Answer the following questions.
Choose one correct option.

8) How much did Amltabh donate?
a) Rs.200 b)Rs. 200— ) Res. 200— d)Rs.zooiz

9)Find the total amount donated by four friends.
a) Rs.601—2— b) Rs.600 c) Rs. 601— d)Rs.601

10)How much did Adltl donate more than Aryan?
a)100 b)Rs. 100— c)Rs. 100— d)Rs. 100—

11) Who donated the most?
a) Aryan b) Aditi c) Arnav  d) Amitabh




PART-B

. .15
The product of two rational numbers 1s . If one of the numbers

B
is —, find the other.
48

5

, . 7
Write any 4 rational numbers between ¢ and e

)

-

. 3 .
From a rope 12meters long two pieces of length3 Emetres and

3 . : o
2?6 metres are cut off. What is the length of the remaining rope

L

2

e the three rational numbers where a =2,

b cdnd &= —
5 6
Verify associative property of addition for a,b,c

Using appropriate properties of rational number simplify
8 11\ 4 (2




2 g
Cig,
£ 53

i) All questions are compulsory.

ii) The question paper has three sections and 12 questions.

& iii)Section- A has 6 questions 3 mcq’s and 3 assertion and reason of 1 mark each;
Section- B has 3 questions of 3 marks each; and

Section-C has 3 questions of 5 marks each.

| SINDHI HIGH SCHOOL.KK ROAD,BENGALURU
PERIODIC TEST 1 (2022-23)
CLASS: 8 SUBJECT:SCIENCE
MARKS:30 TIME:1HR
NO OF SIDES: 3 DATE:15/7/22
GENERAL INSTRUCTIONS: .

SECTION A

Sl no QUESTIONS

Marks

I. If two plane mirrors are inclined at an angle of 40°, number of images formed
will be

(a) 7 .

(b) 8

(¢)9

(d)5

— Identify the correct symbol of Gold.
(a) Go
(b) Gd
(¢) Ge
(d) Au

. 4 Male reproductive system consists of :

(a) A pair of testes, a pair of oviduct and a penis
(b).A pair of testes.,a sperm duct and a penis

(c).A pair of testes, a pair of sperm duct and a uterus
(d)A pair of testes, a pair of sperm duct and a penis

Following questions consist of two statements — Assertion (A) and Reason (R).
Answer these questions selecting the appropriate option given below:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.




(c)A'BlmebMR'Bﬁlse-
(d)Ais false but R is true.

Assertion: Light gets reflected from rough surfaces called diffused reflection.

Reason: Diffused reflection does not obey laws of reflection.

Assertion: An atom is the smallest particle of an element that exhibits all the
properties of the element

- - - - - . - N -y - veo - - -

Reason: An element is a pure substance. 3

Assertion: Tadpole develops into an adult frog by the process of
metamorphosis.

Reason: The process of fusion of male and female gametes is called
fertilization.

SECTIONB

Describe an activity to show that the incident ray.the reflected ray and the
normal at the point of incidence lie in the same plane.

(a) Give reason:

(i) Inert gases have zero valency.

(ii) The valency of sodium is +1.

(b) Draw the structure of an atom of chlorine.

(a)Why do fish and frogs lay hundreds of eggs. whereas a hen lays only one €28

at a time?
(b)What is the function of the tail in Human sperm?

SECTION C

10.

(a ) How many images of a candle will be formed if it is placed between two
parallel plane mirrors separated by 60cm?

(b) Draw aray diagram to show the image formation of a point object in a plane
mirror with labeling.

(¢) What is the angle of the incident ray if the reflected ray is at an angle of 70
degree to the incident ray?

11.

(a) Write the names of the compounds represented by the following formulae:
(i) Al2(SO4)3




(i) KNOs3
(b) Write the chemical formulae of the following compounds.
(i) Magnesium chloride
(ii) Calcium oxide

(¢) (i) Define radical.

(ii) Identify the jons present in the given compound (NH4)2S04

(i)
(a). Identify the given diagram.

-

(b). Label the parts M, N and O.

(¢). What happens when part ‘N ‘is blocked?

(d). In which part of the diagram development of the baby takes place?
(e). Write the full form of IVF.

(i) Differentiate between zygote and feetus.




'SINDHI HIGH SCHOOL, K K ROAD,

BENGALURU.
PERIODIC TEST - I- 2022-23
Class: 8 Subject: Social Science
Marks: 30 Time: 1 hr
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Note: All questions are compulsory.

Question 1 to 6 are multiple choice questions which carry 1 mark
each.

Question 7 to 9 carry 3 marks each.

Question 10 to 12 carry 5 marks each.

5% Operations were held every ten years. (1m)

a. Revenue b. Census ¢. Crime d. Surveys

2. After partition of India, the majority of the minority Hindus and Sikhs in
Pakistan migrated to : (1m)

a. India b. Bangladesh ¢ Pakistan  d. Afghanistan

3. The Constitution prohibits employment of children under of age.(1m)

a. 17 years b. 15 years c. 12 years d. 14 years

4. The organ of the government responsible for implementing law and
running the government. (1m)

a. Legislature ‘b. Executive  C. Judiciary d. All of these.

5. TFossil fuels are known as (1m)

a. Renewable b. Potential c. Non-renewable resources d. Man-made
resources

6. Which one of the following is a human-made resource? (1m)

4. Medicines to treat cancer b. spring water C. plateau d. mountain

7. a. Define the term “Colonization”. (1m)

b. According to Mill, how could India be civilized? (2m)

8. a. Define «“Constitution”. (1m)

b. What do you mean by “federalism”? (2m)

9. Why are resources distributed unequally over the earth? (3m)
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